| m=®mE& |

A 6—1

af % A H
ESfR i N =T
* AT BT X EE R 2-1-3
%4 B OOWi#ES
R&EERAL  EL KA

TN FET-FINIINHEZSEERDSE

MERRBES
CEP R+
1. BHEROEHRURERE
% o OO ks

REEORAL | EL K
Lxopglk | RSO OREI AR

2. RfFLI-HENEE (2 15)
(HEIBIE ST i B 48

¥a%E 3, 777, 000 4
AT BRI 1 B xSk E D1, 500, 000 H
AT BRI 1 B Skt E @2, 277, 000 H

(A Bt S 1 R
af % HA~%fm % A

3. HLhvartEx(EO)

Zan 4 | RS0 0

* AT | R TR X EE 23S 2-1-3

#H E i F| OOHMOOH

By F 4| ELE R

B e | T E L:00-1234-5678
E-Mail : ~~~@~. co. jp




4. FXDEEIRR

URTE L 72/ AR 2 itk & b R R DO ARDL)

HEX BN BT D FIHRE DORBUZ DN TR L TF S,

(R - o )

$ DA - FHEIOD SR A H) 00 A
(EH LESARETRONE) S50 E S TOARVEACHBORENSHETHLHA
I, ZOFRKFIZOWTHEEHE L TR,

B O N7 o oS E S A TR LT RV, £,

AN

HyEw !

(5% DB AT ST

A B OBRERBHELANEI OV CIRB L TF S, F 72, SHEORES S IO E (LR L7-5
AEEREONE) LB Y RSN TORVSAREBORESEIETH 2 HANL, T DU ER

%
¢
DNTHRLHEH LT RSV,

Iz

(& DA FFRE S IH)




SR | SOHROB AT RO TR ITFE T,
5. RBMNB(RIER) — — K YOROARMTHED ) EH A,

FHECREGIR | GHERE )

ASF FE A~
(i Bl e G2 1Y)
SR A~af £ A (2 )
(ARG
Af E A~AF O A (2 H)
Fhm |
LS
g | 7K
it
Wi % i H
Wk | W | B
wa | aE |
ES
i
Al
%=
%
%
i
?(
i
e

KAEGRERE CHIEE T D58 I121d, MERICTNZNORBO G OEWE, C0,
PR, B R L O FERREO G 2 RIS OO B, R~—U L
BEiREES & OB, Co. PEtE, BHMEMROFEMZ R L TSV,




5. EfEANE

%::::::40%% VEEB A AL, AL B, 1. 278
FHERERE ( RIS R AR L TR S0,
FHERERIME | GHERE )
s A~
b E S IE
sf % A~nf # A ( 7 H)
(5 e S 4 )
sf % A~nf # A ( 7 H)
HE | FE | ATHE (@@ >0Ic— (OO0HE) — AIC—B tHAE (AT AHT)
RiE H A—QOIC [20km], OIC—AIC [450km]. AIC—B [30km]
R
F¥ | A TS (@ @H]) ~OBWER— AKRWER—B A H (A AHT)
Ehitg | A>OEMER [40km], OBR— AR [550km], ABR—B [40km]
0% i H Bin, MEESE
Wk | HF¥E | F| - EPE 10,000t
N2 = i < CO,HEHIE « (RHART) 1, 125.00 t—CO, | H2EE @W@%ﬁﬁbf?éw
o | - - G 2,500 | (BELEHAEEREONE)
Al
F| - 12E 10,000t
i - CO R (HEH4%) 279.00 t-CO,
Hi (HIE &) 846. 00 t-CO,
% | - AIMEh R - (EEHRER) 200 FRERE
(HIl ) 2, 300 FERE
W | - EE 20,000t
£ | - COHEH &
(#EHAFT) 20,000t X 500km X 225g-COs/t-km X 10 6=2,250.00t-COx
(#n#a %) 20,000t X 80km X 225g-COs/t-km X 10 6=360.00 t-CO2
20,000t X 550km X 18g-CO2/t-km X 10 6=198.00 t-COx
(B 1,692.00 t-CO:
- BIHEE (T > 7 BT A S—ETTRRH)
(HERHART) ~PR)IERARER 10 WfA] X EAT 1%L 200 [2]=2,000 K fH]
(Haffats) SPRTEERIRERT 2 WEf X STk 90 [F]= 180 K
(IR & b SRR ¢ 1,820 BRRE & /(bR : 91.0%
WS X R I IS T D 54 8 K OF COp i &

B I bh S @gﬂ%%a’i’nﬂﬁz LTTFEVY,
EYEIIFEEOERELTTH L. T ORI L
7D ERHI S MR E L TR,




XHMHFHEAEE D 55513,
6. BEE- A AN EHBICETOIHBOEAMKR FHEEC/ERR L TR &0,
(il R )

HEX BN T D FHHRE ORDUZ DNV TREHR L TR S,
Fo. ATAGOENMEI o TenZTEHE L T TSV,

(R - S ma)

FHEOEIHRIA S IR T ERCWE N E 2 H L T, £72. FEOREN Y M0 FHE
(BT LG ETHONE) EBY EHIN TV ARWEACHBEIORENRNETH 255
X, FORFRKRICOWTHEHE L TFEV,

(A& DEGHIZ OV T

S ORESCEMANBICOWTEH LT FEW, £72, FHHOREN LYY OFHME (BT L%
BIEETHONE) EB D Ehii STV RWEEE

{3
- FHEORENEEETH 2 HEIE, * ORER
ONTHREFHL TR,

Iz

(& DA FFRE S IH)




